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[E 422] 52 28 Aol AMSE =ZH &= Adt
H AR e Alxt =W g
S| [ A/100Klx] [/ £ V]
1 35.12 35.12 12 A/100000kx X 604 Ohm=0.2121248] 12 V] 4.7142
2 32.68 32.68 12 A/100000kx X 604 Ohm=0.1973872] 12 V/] 5.0662
3 34.57 34.57 12 A/100000kx X 604 Oh=0.2088028] 12 V/ix] 47892
4 32.70 32.70 £ A/100000kx > 604 Ohm=0.1975080] 12 V/] 5.0631
5 34.11 34.11 42 A/100000kx > 604 Ohm=02060244] 12 V] 4.8538
6 29.54 29.54 1« A/100000Ix X 604 Ohrr=0.1784216] 12 V] 5.6047
7 31.68 31.68 12 A/100000kx X 604 Ohm=0.1913472] 12 V] 5.2261
8 34.11 34.11 £ A/100000k X 604 OhmF0.2060244] 12 V/ix] 4.8538
9 33.10 33.10 £ A/100000kx X 604 Ohm=0.1999240] 12 V] 5.0019
10| 3341 33.41 12 A/100000kx > 604 Ohm=02017964] 12 V/] 4.9555
11 33.48 33.48 12 A/100000kx X 604 Ohm=0.2022192] 12 V] 4.9451
12| 3559 35.59 12 A/100000kx > 604 Ohm=02149636] 12 V] 4.6520
13 31.58 31.58 12 A/100000kx X 604 Ohm=0.1907432] 12 V] 5.2427
14| 31.96 31.96 12 A/100000kx > 604 Ohm=0.1930384] 12 V] 5.1803
15 32.64 32.64 1 A/100000kx X 604 Ohm=0.1971456] 12 V] 5.0724
16| 3559 35.59 12 A/100000kx > 604 Ohm=02149636] 12 V] 4.6520
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[E 43.1] SE =t A{=Ee| d|W(The:lx)
A=A 1 2 3 4 5
X 20cm 60cm 40cm 20cm 60cm
Y 20cm 20cm 40cm 60cm 60cm
Z 8cm 8cm 8cm 8cm 8cm
Apr =3 10500 10110 5310 3720 4110
T3
AAk 9960 9900 5820 4200 5610
o = =3 4020 3300 1890 1830 1110
=14
AAk 3870 3420 2010 1830 1170
F=u =3 4200 5790 4020 1830 3990
B AAk 4200 5790 4260 2700 4440
4 =3 11040 10740 9120 5250 7110
AAk 11550 10440 8280 5010 6360
w =3 3000 3600 2940 1920 2760
AAk 2430 2100 1830 1410 2070

-42 -



